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0 O0O0O0O00 (M.Hénon, Communicaton Physics, Vol.50, pp.69—-77, 1976)

X(t + 1) 1 —ax(t)® + y(t)
yit+1) = bx(t)

cf OOOoOoOoooono
x(t + 1) = Rx(t) (1 = x(t))

[0 OO0O0O0O (O0O0O0O0O0Optics Communications, Vol.30, No.2, pp.257-261,

1979)
(x(t+1) = q + b(x(t)cose(t) - y(t)sine(t))
] yt+1) = b(xg)sin o(t) + y(t) cos f(t) )
O = 1w+ v
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1 Ross L. Finney, Maurice
Thomas D. Weir, and Frank R.

CALCULUS Giordano, “Thomas’s Cal-
culus;”

10 th Edition, Addison
Wesley, 2001.

FINNEY WEIR GIORDANO
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(x(t+1) = g + b(x(t)cosa(t) - y(t)sine(t))
J yt+1) = b(xg)sin 0(t) + y(t) cos 6(t))
o0 = - 1+ X3(t) + y2(1)
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